Division par 10* (C)

34 =+ 102

34 + 102

32 =102

63 + 107

80 = 102

59 + 10?

93 + 102

78 = 102

42 + 107

64 =+ 102

Trouvez chaque quotient.

79 + 10% =

34 +10% =

81 + 107

55 =+ 102

77 +10% =

47 - 10% =

90 =+ 10% =

5-+10%=

16 +10% =

77 +10% =
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Division par 10% (C) Solutions

34 +10*=0,34

34 +10°=0,34

32 +10%=0,32

63 +10%>=0,63

80 +~ 10°=10,8

59 + 10*=0,59

93 +~10%°=0,93

78 +10%=0,78

42 +10%*=0,42

64 + 10% = 0,64

Trouvez chaque quotient.

79 +10%=0,79

34 +10%=0,34

81+ 10%>=0,81

55+ 10%=0,55

77 +10%=0,77

47 = 10% = 0,47

90 +~ 10°=0,9

5=+ 10%2=0,05

16 +10*=10,16

77 +10%=0,77
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